SubtrACtion Word Problems

Aim - To solve subtrAction word problems.

1. Miss Arthur has 37 pairs of socks. She throws 12 pairs away. How many
pairs are left?
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2. There are 38 children at a party. Only 23 children are left in a game.
How many children are no longer in the game?
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3. Ateacher has 45 pencils. She gives out 21 to the new children in her class.
How many are left?
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4, Janine buys a packet of chips for 60qar. She paid with 80gar. How much
change will she get?
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6. Marcel has 48 lollies. He shares 23 between his friends. How many does he

have left?
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